ON THE ASYMPTOTIC BEHAVIOR OF THE SUM OF A "NON-HARMONIG FOURIER SERIES"

Autor(en): Anselone, P. M.

Objekttyp: Article

Zeitschrift: L'Enseignement Mathématique

Band (Jahr): 10 (1964)

Heft 1-2: L'ENSEIGNEMENT MATHÉMATIQUE

PDF erstellt am: **05.06.2024**

Persistenter Link: https://doi.org/10.5169/seals-39419

Nutzungsbedingungen

Die ETH-Bibliothek ist Anbieterin der digitalisierten Zeitschriften. Sie besitzt keine Urheberrechte an den Inhalten der Zeitschriften. Die Rechte liegen in der Regel bei den Herausgebern. Die auf der Plattform e-periodica veröffentlichten Dokumente stehen für nicht-kommerzielle Zwecke in Lehre und Forschung sowie für die private Nutzung frei zur Verfügung. Einzelne Dateien oder Ausdrucke aus diesem Angebot können zusammen mit diesen Nutzungsbedingungen und den korrekten Herkunftsbezeichnungen weitergegeben werden.

Das Veröffentlichen von Bildern in Print- und Online-Publikationen ist nur mit vorheriger Genehmigung der Rechteinhaber erlaubt. Die systematische Speicherung von Teilen des elektronischen Angebots auf anderen Servern bedarf ebenfalls des schriftlichen Einverständnisses der Rechteinhaber.

Haftungsausschluss

Alle Angaben erfolgen ohne Gewähr für Vollständigkeit oder Richtigkeit. Es wird keine Haftung übernommen für Schäden durch die Verwendung von Informationen aus diesem Online-Angebot oder durch das Fehlen von Informationen. Dies gilt auch für Inhalte Dritter, die über dieses Angebot zugänglich sind.

Ein Dienst der *ETH-Bibliothek* ETH Zürich, Rämistrasse 101, 8092 Zürich, Schweiz, www.library.ethz.ch

ON THE ASYMPTOTIC BEHAVIOR OF THE SUM OF A "NON-HARMONIC FOURIER SERIES" 1)

by P. M. Anselone

1. Introduction. This paper is concerned primarily with the asymptotic behavior as $t \to \infty$ of a function of the form

$$\varphi(t) = \sum_{n=-\infty}^{\infty} c_n e^{z_n t}, \ t \ge 0, \begin{cases} c_n = a_n + ib_n, \\ z_n = x_n + iy_n, \end{cases}$$
(1)

where

$$x_n < 0 \,, \qquad \forall n \,, \tag{2}$$

$$M = \sup_{n} |z_n - 2\pi ni| < \ln 2.$$
 (3)

Conditions (2) and (3) will be generalized later. Note that if $z_n = 2\pi ni$, $\forall n$, then (1) is a Fourier series. In particular, a series of the type (1) may occur as the residue evaluation (Heaviside expansion) of the inverse Laplace transform integral

$$\varphi(t) = \lim_{\eta \to \infty} \frac{1}{2\pi i} \int_{\xi - i\eta}^{\xi + i\eta} \hat{\varphi}(z) e^{zt} dz, \quad t \ge 0, \quad \xi > 0, \quad (4)$$

if the transform $\hat{\varphi}(z)$ is regular for $Re(z) \ge 0$. In fact, such an example, which will be discussed later, motivated the present study.

Since $|e^{z_n t}| = e^{x_n t}$ and $x_n < 0$, it may seem plausible that $\varphi(t) \to 0$ as $t \to \infty$ or, at least, that $\varphi(t)$ is bounded. However, Rudin [6], constructed an example in which the series in (1) converges uniformly on each finite interval and $\varphi(t)$ is unbounded. In this paper we give conditions under which $\varphi(t) \to 0$ in certain mean-square senses as $t \to \infty$. Since the proof involves Hilbert

¹⁾ Sponsored by the Mathematics Research Center, United States Army, Madison, Wisconsin under Contract No.: DA-11-022-ORD-2059.

space concepts, a resumé of some of the relevant theory is presented next.

2. Biorthonormal Sequences. Let H be a complex separable Hilbert space with the norm $\| \|$ and the inner product $(,)^1$. A subset E of H is complete if the set of finite linear combinations of elements in E is dense in H. An equivalent condition is that

$$(f,g) = 0$$
 $\forall g \in E \Rightarrow f = 0$.

Let $\{h_n\}$ be an orthonormal sequence in H, i.e., $(h_m, h_n) = \delta_{mn}$. Recall that a series $\sum_{n} \gamma_n h_n$ converges to some $h \in H$ iff $\sum_{n} |\gamma_n|^2 < \infty$, in which case $\gamma_n = (h, h_n)$ and

$$h = \sum_{n} (h, h_n) h_n, \qquad (5)$$

$$||h||^2 = \sum_{n} |(h, h_n)|^2.$$
 (6)

If $\{h_n\}$ is complete, then (5) and (6) hold for all $h \in H$ and (6) is Parseval's identity.

Let $\{f_n\}$ and $\{g_n\}$ be biorthonormal sequences in H, i.e., $(f_m, g_n) = \delta_{mn}$. If $h = \sum_{n} \gamma_n f_n$, then $\gamma_n = (h, g_n)$ and, hence,

$$h = \sum_{n} (h, g_n) f_n. \tag{7}$$

If $\{g_n\}$ is complete and the series $\sum_{n} (h, g_n) f_n$ converges for a particular $h \in H$, then (7) holds since

$$(h - \sum_{n} (h, g_n) f_n, g_m) = 0, \quad Vm.$$

The same statements are valid with $\{f_n\}$ and $\{g_n\}$ interchanged.

Lemma 1. Let $\{f_n\}$ be a sequence and $\{h_n\}$ a complete orthonormal sequence in H. Suppose there exists a constant θ , $0 \le \theta < 1$, such that

$$\|\sum_{n\in F} \gamma_n (h_n - f_n)\|^2 \le \theta^2 \sum_{n\in F} |\gamma_n|^2,$$
 (8)

¹⁾ Cf. TAYLOR [7], pp. 118-119.

for each finite set F and arbitrary constants γ_n , $n \in F$. Then: $\{f_n\}$ is complete; there exists a unique complete sequence $\{g_n\}$ in H such that $\{f_n\}$ and $\{g_n\}$ are biorthonormal;

$$h = \sum_{n} (h, g_{n}) f_{n} = \sum_{n} (h, f_{n}) g_{n} \quad \forall h \in H;$$
 (9)

$$(1+\theta)^{-2} \|h\|^2 \le \sum_{n} |(h, g_n)|^2 \le (1-\theta)^{-2} \|h\|^2 \qquad Vh \in H; \quad (10)$$

$$(1-\theta)^2 \| h \|^2 \le \sum_{n} |(h, f_n)|^2 \le (1+\theta)^2 \| h \|^2 \qquad \forall h \in H.$$
 (11)

This fundamental result was proved for real $L_2(\alpha, \beta)$ by Paley and Wiener [4; pg. 100]. It was extended to a complex separable Hilbert space by Duffin and Eachus [3]. An independent proof was given by Nagy [5; pp. 208-210].

Lemma 2. Assume the hypotheses of Lemma 1. Then a series $\sum_{n} \gamma_{n} f_{n}$ converges to some $h \in H$ iff $\sum_{n} |\gamma_{n}|^{2} < \infty$, in which case $\gamma_{n} = (h, g_{n})$ and

$$(1+\theta)^{-2} \|h\|^2 \le \sum_{n} |\gamma_n|^2 \le (1-\theta)^{-2} \|h\|^2.$$
 (12)

Proof. If $h = \sum_{n} \gamma_n h_n$, then $\gamma_n = (h, g_n)$, so that (10) implies (12) and $\sum_{n} |\gamma_n|^2 < \infty$. If $\sum_{n} |\gamma_n|^2 < \infty$, then, also by (10),

$$(1+\theta)^{-2} \left\| \sum_{n \in F} \gamma_n f_n \right\|^2 \leq \sum_{n \in F} |\gamma_n|^2, \qquad F \text{ finite},$$

so that $\sum_{n} \gamma_{n} f_{n}$ converges by the Cauchy criterion.

Lemma 3. If (3) holds, then the hypotheses in Lemmas 1 and 2 are satisfied with $H = L_2(0, 1)$,

$$h_n(t) = e^{int}, f_n(t) = e^{z_n t}, \begin{cases} 0 \le t \le 1, \\ n = 0, \pm 1, \dots, \end{cases}$$
 (13)

and $\theta = e^{M} - 1$.

Proof. Paley and Wiener [4; pp. 108-109] proved the analogous result for $L_2(-\pi, \pi)$ with $M < \pi^{-2}$ and $\theta = M\pi^2$. Duffin

and Eachus [3] extended that result by taking $M < \frac{\ln 2}{\pi}$ and $\theta = e^{M\pi} - 1$. Their proof goes over without essential change to the present situation.

3. The Asymptotic Behavior of $\varphi(t)$.

Theorem 1. Assume (2) and (3). Then the series in (1) converges in $L_2(0, s)$ for each s > 0 iff

$$\sum_{n} |c_n|^2 < \infty , \qquad (14)$$

in which case

$$\int_{s}^{s+\tau} |\varphi(t)|^{2} dt \to 0, \quad as \ s \to \infty, \tag{15}$$

for each fixed $\tau > 0$, and

$$\frac{1}{s} \int_{0}^{s} |\varphi(t)|^{2} dt \to 0, \quad as \quad s \to \infty.$$
 (16)

Proof. According to Lemma 3, Lemmas 1 and 2 are applicable. Consider (1) in the form

$$\varphi(t+k) = \varphi_k(t) = \sum_{n} c_n e^{z_n k} f_n(t), \quad \begin{cases} 0 \le t \le 1, \\ k = 0, 1, \dots \end{cases}$$
 (17)

By Lemma 2, this series converges in $L_2(0, 1)$ for a particular k iff

$$\sum_{n} |c_{n} e^{z_{n}k}|^{2} = \sum_{n} |c_{n}|^{2} e^{2x_{n}k} < \infty , \qquad (18)$$

in which case

$$(1+\theta)^{-2} \|\varphi_k\|^2 \leq \sum_n |c_n|^2 e^{2x_n k} \leq (1-\theta)^{-2} \|\varphi_k\|^2.$$
 (19)

Since $x_n < 0$, (18) for k = 0 implies (18) for all k. Therefore, the series in (17) converges in $L_2(0, 2\pi)$ for every k iff (14) is satisfied. This justifies the first assertion of the theorem.

Now assume (14). Since $x_n < 0$, the series in (18) converges uniformly with respect to k. It follows that

$$\sum_{n} |c_n|^2 e^{2x_n k} \to 0 \qquad as \ k \to \infty \ . \tag{20}$$

By (19) and (20),

$$\|\varphi_k\| \to 0$$
, as $k \to \infty$, (21)

which implies (15) and (16).

To facilitate the next theorem, let ||| ||| denote the norm for $L_2(0, \infty)$.

Theorem 2. Assume (2) and (3). Then these three conditions are equivalent: (A) the series in (1) converges in $L_2(0, s)$ for each s>0, and $\varphi \in L_2(0, \infty)$; (B) the series in (1) converges in $L_2(0, \infty)$;

$$\sum_{n} \frac{|c_n|^2}{-x_n} < \infty . {(22)}$$

If (A), (B) or (22) is satisfied, then

$$\frac{3}{4\ln 2} (1+\theta)^{-2} |||\varphi|||^2 \le \sum_{n} \frac{|c_n|^2}{-x_n} \le 2(1-\theta)^{-2} |||\varphi|||^2.$$
 (23)

Proof. By (2) and (3),

$$-\ln 2 < x_n < 0 , \qquad \forall n . \tag{24}$$

Hence, (22) implies (14). In view of Theorem 1, we can assume without loss of generality in this proof that (14) is satisfied and, hence, that the series in (1) converges to $\varphi(t)$ in $L_2(0, s)$ for each s>0.

Let

$$|||\varphi|||^2 = \int_0^\infty |\varphi(t)|^2 dt,$$
 (25)

whether finite or infinite. By (17), (19) and (25),

$$||| \varphi |||^2 = \sum_{k=0}^{\infty} || \varphi_k ||^2,$$
 (26)

$$(1+\theta)^{-2} |||\varphi|||^2 \le \sum_{n} \frac{|c_n|^2}{1-e^{2x_n}} \le (1-\theta)^{-2} |||\varphi|||^2.$$
 (27)

For $s \neq 0$, $\frac{1-e^s}{-s}$ is positive, monotone increasing, and tends to 1 as $s \to 0$. Hence, by (24),

$$\frac{3}{4ln2} < \frac{1 - e^{2x_n}}{-x_n} < 2 \,, \qquad \forall n \,. \tag{28}$$

This inequality and (27) imply (23). Therefore, $\varphi \in L_2(0, \infty)$ iff (22) holds. This proves the equivalence of (A) and (22).

For each finite set F of integers, let

$$\varphi^{F}(t) = \sum_{n \in F} c_n e^{z_n t}, \ t \ge 0.$$
 (29)

Since φ^F is a special case of φ , (23) yields

$$\frac{3}{4\ln 2} (1+\theta)^{-2} |||\varphi^F|||^2 \leq \sum_{n \in F} \frac{|c_n|^2}{-x_n} \leq 2 (1-\theta)^{-2} |||\varphi^F|||^2.$$

It follows by means of the Cauchy criterion that (B) and (22) are equivalent. Thus, the theorem is proved.

As indicated in the foregoing proof, (22) implies (14). However, (14) does not imply (22). To see this, let $x_n \to 0$ as $n \to \infty$. Thus, the series in (1) may converge in $L_2(0, s)$ for each s > 0, but $\varphi \notin L_2(0, \infty)$.

The following elementary theorem is included for comparison with Theorem 2.

Theorem 3. If (2) holds and

$$\sum_{n} \frac{|c_n|}{\sqrt{-x_n}} < \infty , \qquad (31)$$

then the series in (1) converges in $L_2(0, \infty)$ and

$$|||\varphi||| \le \frac{1}{\sqrt{2}} \sum_{n} \frac{|c_n|}{\sqrt{-x_n}}.$$
 (32)

Proof. Assume (31). Then, by (1), (25) and the Cauchy-Schwarz inequality,

$$\begin{aligned} ||| \varphi |||^{2} & \leq \sum_{m} \sum_{n} |c_{m} c_{n}| \int_{0}^{\infty} e^{x_{m}t} e^{x_{n}t} dt , \\ ||| \varphi |||^{2} & \leq \sum_{m} \sum_{n} |c_{m} c_{n}| \left(\int_{0}^{\infty} e^{2x_{m}t} dt \right)^{\frac{1}{2}} \left(\int_{0}^{\infty} e^{2x_{n}t} dt \right)^{\frac{1}{2}} , \\ ||| \varphi |||^{2} & \leq \sum_{m} \sum_{n} |c_{m} c_{n}| \left(\frac{1}{-2x_{m}} \right)^{\frac{1}{2}} \left(\frac{1}{-2x_{n}} \right)^{\frac{1}{2}} = \left[\sum_{n} \frac{|c_{n}|}{(-2x_{n})^{\frac{1}{2}}} \right]^{2} , \end{aligned}$$

which implies the desired results.

Since (31) implies (22), the first statement of Theorem 3 could have been obtained also from Theorem 2. Since (22) does not imply (31), Theorem 2 contains a stronger result.

4. Generalizations. Results similar to the above can be obtained under more general conditions. In place of (2) and (3), consider

$$x_n < \xi \qquad \forall n \,, \tag{33}$$

$$\sup_{n} |z_n - \xi - \lambda ni| < \frac{\lambda \ln 2}{2\pi}, \tag{34}$$

for some real ξ and some $\lambda > 0$. The changes of variable

$$t^* = \frac{\lambda t}{2\pi}, \quad \varphi^*(t^*) = e^{-\xi t} \varphi(t), \quad z_n^* = \frac{2\pi}{\lambda} (z_n - \xi), \quad (35)$$

yield (1), (2) and (3) in terms of $\varphi^*(t^*)$ and $z_n^* = x_n^* + iy_n^*$. Thus, the theorems of Section 3 apply. By means of (35), the statements of these theorems can be expressed in terms of $\varphi(t)$ and z_n . Since only substitutions are involved, we omit further details.

Consider (3) or (34) with sup replaced by lim sup.

This case can be treated by expressing (1) in the form

$$\varphi(t) = \varphi'(t) + \varphi''(t), \qquad (36)$$

where

$$\varphi'(t) = \sum_{n=-N}^{N} c_n e^{z_n t}, \qquad \varphi''(t) = \sum_{|n|>N} c_n e^{z_n l}, \qquad (37)$$

and (3) or (34) holds with sup replaced by sup.

Then all of the above results apply to $\varphi''(t)$. Furthermore, since $\varphi'(t)$ is a finite sum, the series for $\varphi(t)$ and $\varphi''(t)$ have the same convergence properties.

Finally, ln2 can be replaced by 2ln2 in (3). Under this weaker condition, Lemma 3 is valid for $H = L_2(-\frac{1}{2}, \frac{1}{2})$ and $\theta = e^{M/2}-1$. Then the reasoning used in the proofs of Theorems 1 and 2 can be applied to the intervals $(k-\frac{1}{2}, k+\frac{1}{2})$ to derive similar results. Furthermore, the case of (33) and (34) with the right member of (34) doubled can be handled. Since notational complications are involved, we have preferred to deal with the conditions (3) and (34) as they stand.

5. An Example. Consider the difference-integral equation

$$\varphi(t) - \varphi(t+1) = \int_{-1}^{1} K(s) \varphi(t-s) ds, \qquad t \ge 0,$$
 (38)

where K(s), $-1 \le s \le 1$, and $\varphi(t)$, $-1 \le t < \infty$, are complex and continuous. This equation was investigated by Anselone and Bueckner [1, 2]. The Laplace transform of $\varphi(t)$, $0 \le t < \infty$, is

$$\hat{\varphi}(z) = \frac{A(z)}{\Psi(z)}, \qquad (39)$$

where

$$A(z) = \int_{-1}^{1} e^{-z (s+t)} K(s) \varphi(t) dt ds - e^{z} \int_{-1}^{1} e^{-zt} \varphi(t) dt, \quad (40)$$

$$\Psi(z) = 1 - e^z - \int_{-1}^{1} e^{-zs} K(s) ds.$$
 (41)

An argument involving Rouchés theorem proves that: for some m, $\Psi(z)$ has simple zeros z_n , $|n| \ge m$, such that $z_n - 2\pi ni \to 0$

as $|n| \to \infty$; and $\Psi(z)$ has only a finite number of other zeros z with $Re(z) \ge \xi$, where ξ is any real number. By means of (4), $\varphi(t)$ can be expressed in the form

$$\varphi(t) = \varphi'(t) + \sum_{|n| \ge m} c_n e^{z_n t}, \qquad t \ge 0.$$
 (42)

If $\varphi(z)$ is regular for $Re(z) \ge 0$, then $\varphi' \in L_2(0, \infty)$ and, by Theorem 1,

$$\int_{s}^{s+\tau} |\varphi(t)|^{2} dt \to 0 \qquad as \qquad s \to \infty ,$$

for each fixed $\tau > 0$. For further details, see the references cited.

REFERENCES

- 1. Anselone, P. M. and Bueckner, H. F., On a Difference-Integral Equation, J. of Math. and Mech., 11, No. 1 (1962) 81-100; also MRC Technical Summary Report 171, August 1960, University of Wisconsin, Madison, Wisconsin.
- 2. Anselone, P. M. and Bueckner, H. F., On a Difference-Integral Equation, Part II, MRC Technical Summary Report 268, January 1962, University of Wisconsin, Madison, Wisconsin.
- 3. Duffin, R. J. and Eachus, J. J., Some Notes on an Expansion Theorem of Paley and Wiener, Bull. Amer. Math. Soc., 48 (1942), 850-855.
- 4. Paley, R. E. A. C., and Wiener, N., Fourier Transforms in the Complex Domain, 1934, Amer. Math. Soc. Colloquium Publ. Vol. XIX, New York.
- 5. Riesz, F. and Nagy, B. Sz., Functional Analysis, 2d ed., 1955, Frederick Ungar Publ. Co., New York.
- 6. Rudin, W., The Influence of Damping Factors, MRC Technical Summary Report 220, March 1961, University of Wisconsin, Madison, Wisconsin.
- 7. TAYLOR, A. E., Introduction to Functional Analysis. 1958, John Wiley and Sons, Inc., New York.

P. Anselone Math. Dep. Oregon State University Corvallis, Oregon

(Reçu le 15 octobre 1962.)